Motion in a straight line-5

Kinematic Equations for constant acc.
Motion under gravity
29/07/2025
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. Velocity of a body moving along a straight line with

uniform acceleration (a) reduces by 3 of its initial velocity

in time £,,. The total time of motion of the body till its
velocity becomes zero is

4 3
a) —1 b) =t
()30 ()2()

5 8

it d) =1
(C)3o ()30

. The displacement of a body in 8 s starting from rest with an
acceleration of 20 cms ™ is

(a) 64 m (b) 64 cm

(c) 640 cm (d) 0.064 m

. The motion of a particle is described by the equation v = at.
The distance travelled by the particle in the first 4 s is

(a) 4a (b) 12a

() 6a (d) 8a

. A particle starts with a velocity of 2 ms™ and moves in a
straight line with a retardation of 01 ms™. The first time at
which the particle is 15 m from the starting point is

(a) 10s (b) 205

() 30s (d) 40s

. A particle starts from rest, accelerates at 2 ms ™ for10s and
then moves with constant speed of 20 ms™" for 30s and
then decelerates at 4 ms ™ till it stops after next 5 s. What is
the distance travelled by it?

(a) 750 m (b) 800 m (c) 700 m (d) 850 m

. A body is moving with uniform velocity of 8 ms ™. When
the body just crossed another body, the second one starts
and moves with uniform acceleration of 4 ms 2. The time
after which two bodies meet, will be

8

If a stone is thrown up with a velocity of 9.8 ms™, then
how much time will it take to come back?

(a) I's (b) 2s

(c) 3s (d) 4s

If a ball is thrown vertically upwards with speed u, the
distance covered during the last f second of its ascent is
(a) ut —(gt%/2) (b) (u+ gi)t

(c) ut (d) gt*/2

A person throws balls into air after every second. The
next ball is thrown when the velocity of the first ball is
zero. How high do the ball rise above his hand?

(a) 2m (b) 5m (c) 8m (d) 10 m

A particle is thrown vertically upwards. Its velocity at
half of the height is10 ms™". Then, the maximum height
attained by it is (Take, g =10 ms )

(a) 16 m (b) 10 m

(c) 20 m (d) 40 m

When a ball is thrown up vertically with velocity v, it
reaches a maximum height of 4. If one wishes to triple
the maximum height, then the ball should be thrown

with velocity,
(a) V3, (b) 3v, (c) 9, (d) 3/2v,



